# Project Name: Santa Clara River Levee Downstream of UPRR (SCR-3) - Phase 2 Spec. No. WP25-05

Abstract of Bids opened on: October 3, 2024

**ENGINEER'S ESTIMATE: 23,499,584.00** 

LOW BIDDER - 22,728,200.00

GMZ Engineering, nc. Westlake Village, CA 91362

2nd Bidder - 29,381,723.00

Granite Construction Company

Ventura, CA 90638

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Bids opened on: October 3, 2024				ENGINEER'S ESTIMATE		LOW BIDDER		2nd Bidder	
Project Name: Santa Clara River Levee Downstream of U					<u>_</u>	GMZ Engineering,	nc	Granite Construction	on Company
1. Tojost Haine. Gana Gara River Levee Downsidean of O						-	on Road, Suite #430	4820 McGrath Stre	
						Westlake Village, C		Ventura, CA 90638	
	Spec. No. WP25-05					vvestiane village, C	√ 9 100Z	Ventura, CA 90030	
ITEM				T		<del>                                     </del>	T T	T	<del>                                     </del>
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	BID SCHEDULE I				-			<u> </u>	
1	Mobilization	LS	1	728,022.00	728,022.00	\$ 600,000.0	\$ 600,000.0	\$ 950,000.0	\$ 950,000.0
2	Traffic Control and Detour [F]	LS	1	120,000.00	120,000.00	\$ 100,000.0	\$ 100,000.0	\$ 181,250.0	\$ 181,250.0
3	Water Pollution Control [F]	LS	1	80,000.00	80,000.00	\$ 50,000.0	\$ 50,000.0	\$ 213,500.0	\$ 213,500.0
4	Diversion, Control, and Removal of Water	LS	1	100,000.00	100,000.00	\$ 250,000.0	\$ 250,000.0	\$ 106,000.0	\$ 106,000.0
5	Clearing and Grubbing [F]	LS	1	30.000.00	30,000.00	\$ 200,000.0	\$ 200,000.0	\$ 351,800.0	\$ 351,800.0
6	Vegetation Removal [F]	LS	1	50,000.00	50,000.00	\$ 200,000.0	\$ 200,000.0	\$ 42,480.0	\$ 42,480.0
7	Existing Facilities [F]	LS	1	147,300.00	147,300.00	\$ 200,000.0	\$ 200,000.0	\$ 160,596.0	\$ 160,596.0
8	Excavation Safety [F]	LS	1	130,000.00	130,000.00	\$ 100,000.0	\$ 100,000.0	\$ 2,690,000.0	\$ 2,690,000.0
9	Excavation [F]	CY	3988	55.00	219,340.00	\$ 50	\$ 199,400.0	\$ 52	\$ 207,376.0
10	Levee Fill [F]	CY	6580	60.00	394,800.00	\$ 50	\$ 329,000.0	\$ 62	\$ 407,960.0
11	1-Ton Rock Riprap	CY	1339	325.00	435,175.00	\$ 300	\$ 401,700.0	\$ 325	\$ 435,175.0
12	Filter Material A	CY	261	170.00	44,370.00	\$ 150	\$ 39,150.0	\$ 395	\$ 103,095.0
13	Filter Material B	CY	171	140.00	23,940.00	\$ 150	\$ 25,650.0	\$ 405	\$ 69,255.0
14	1/4-Ton Concreted Rock Riprap	CY	12	305.00	3,660.00	\$ 300	\$ 3,600.0	\$ 375	\$ 4,500.0
15	1/4-Ton Conc. Rock Riprap with 6-Inch Concrete C		1388	305.00	423,340.00	\$ 400	\$ 555,200.0	\$ 495	\$ 687,060.0
16	CMB Access Road	SY	4266	55.00	234,630.00	\$ 45	\$ 191,970.0	\$ 26	\$ 110,916.0
17	12-Ft. Floodwall	LF	978	1,300.00	1,271,400.00	\$ 2,000.0	\$ 1,956,000.0	\$ 1,815.0	\$ 1,775,070.0
18	Sheet Pile	SF	70824	135.00	9,561,240.00	\$ 2,000.0 \$ 85	\$ 6,020,040.0	\$ 1,813.0 \$ 58.5	\$ 4,143,204.0
19	Ground Anchors	EA	262	5,175.00	1,355,850.00	\$ 5,000.0	\$ 1,310,000.0	\$ 18,530.0	\$ 4,854,860.0
20		EA		1,743,201.00	3,486,402.00		\$ 2,250,000.0	\$ 1,443,350.0	\$ 2,886,700.0
21	Floodbreak Gate System [F] 6-Inch PVC Storm Drain	LF	120	1,743,201.00	13,200.00	\$ 1,125,000.0 \$ 200	\$ 24,000.0	\$ 1,443,330.0 \$ 105	\$ 12,600.0
					•		· ·		
22	RC Outlet Structure A [F]	LS LF	1	15,400.00	15,400.00	\$ 25,000.0	\$ 25,000.0	\$ 23,250.0	\$ 23,250.0
23	24-Inch RC Pipe		200	250.00	50,000.00	\$ 500	\$ 100,000.0	\$ 580	\$ 116,000.0 \$ 13,050.0
24	20-Ft. Concrete Driveway Approach	EA SY	2	5,250.00	10,500.00	\$ 10,000.0	\$ 20,000.0	\$ 6,525.0	\$ 13,050.0 \$ 54,035.0
25	Concrete Access Road	SY	169 241	175.00 175.00	29,575.00	\$ 270	\$ 45,630.0	\$ 325	\$ 54,925.0
26	Reinforced Concrete Pavement				42,175.00	\$ 300	\$ 72,300.0	\$ 475	\$ 114,475.0
27	18-Inch Automatic Drainage Flap Gate	EA	1	9,500.00	9,500.00	\$ 15,000.0	\$ 15,000.0	\$ 85,000.0	\$ 85,000.0
28	24-Inch Automatic Drainage Flap Gate	EA	3	12,600.00	37,800.00	\$ 20,000.0	\$ 60,000.0	\$ 155,000.0	\$ 465,000.0
29	30-Inch Automatic Drainage Flap Gate	EA	1	16,000.00	16,000.00	\$ 25,000.0	\$ 25,000.0	\$ 160,000.0	\$ 160,000.0
30	66-Inch Automatic Drainage Flap Gate	EA	1	32,000.00	32,000.00	\$ 70,000.0	\$ 70,000.0	\$ 205,000.0	\$ 205,000.0
31	8'H x 2'H Automatic Drainage Flap Gate	EA	1	32,000.00	32,000.00	\$ 65,000.0	\$ 65,000.0	\$ 165,000.0	\$ 165,000.0
32	5-Ft. High Chain Link Fence	LF	1454	90.00	130,860.00	\$ 50	\$ 72,700.0	\$ 50	\$ 72,700.0
33	Metal Hand Railings	LF	784	90.00	70,560.00	\$ 250	\$ 196,000.0	\$ 244	\$ 191,296.0
34	15'W x 5'H Single Leaf Chain Link Gate	EA	3	5,250.00	15,750.00	\$ 6,000.0	\$ 18,000.0	\$ 5,893.0	\$ 17,679.0
35	20'W x 5'H Double Leaf Chain Link Gate	EA	1	6,300.00	6,300.00	\$ 8,000.0	\$ 8,000.0	\$ 7,850.0	\$ 7,850.0
36	Gas Line Pothloe [F]	LS	1	7,350.00	7,350.00	50,000.00	\$ 50,000.0	\$ 35,635.0	\$ 35,635.0
	TOTAL			=	19,358,439.00	-	15,848,340.00		22,120,257.00
	BID SCHEDULE II								
37	Mobilization	LS	1	115,996.00	115,996.00	600,000.00	\$ 600,000.0	\$ 645,000.0	\$ 645,000.0
38	Traffic Control and Detour [F]	LS	1	52,500.00	52,500.00	\$ 100,000.0	\$ 100,000.0	\$ 206,000.0	\$ 206,000.0
39	Water Pollution Control [F]	LS	1	10,000.00	10,000.00	\$ 50,000.0	\$ 50,000.0	\$ 125,000.0	\$ 125,000.0
	- V 1	-	•	-,	2,222.30	,,	,	, ,,,,,,,,,	,

Ride o	opened on: October 3, 2024			ENGINEER'S	ESTIMATE	LOW BIDDER		2nd Bidder	
Project Name: Santa Clara River Levee Downstream of U				LINGHALLING	LOTINIATE	GMZ Engineering,	nc	Granite Construction	n Company
i rojec	Project Name. Santa Ciara River Levee Downstream of U								
						1	yon Road, Suite #430	4820 McGrath Stre	
	Spec. No. WP25-05					Westlake Village,	CA 91362	Ventura, CA 90638	
ITEM	•								
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
40	Diversion, Control, and Removal of Water	LS	1	10,000.00	10,000.00	250,000.00	\$ 250,000.0	\$ 45,000.0	\$ 45,000.0
41	Clearing and Grubbing [F]	LS	1	3,150.00	3,150.00	\$ 200,000.0	\$ 200,000.0	\$ 32,157.0	\$ 32,157.0
42	Vegetation Removal [F]	LS	1	21,000.00	21,000.00	\$ 200,000.0	\$ 200,000.0	\$ 82,590.0	\$ 82,590.0
43	Existing Facilities [F]	LS	1	205,000.00	205,000.00	\$ 200,000.0	\$ 200,000.0	\$ 295,000.0	\$ 295,000.0
44	Excavation Safety [F]	LS	1	31,500.00	31,500.00	\$ 150,000.0	\$ 150,000.0	\$ 12,855.0	\$ 12,855.0
45	Excavation [F]	CY	230	55.00	12,650.00	\$ 50	\$ 11,500.0	\$ 650	\$ 149,500.0
46	Levee Fill [F]	CY	4179	60.00	250,740.00	\$ 50	\$ 208,950.0	\$ 135	\$ 564,165.0
47	1-Ton Rock Riprap	CY	2370	305.00	722,850.00	\$ 300	\$ 711,000.0	\$ 375	\$ 888,750.0
48	Filter Material A	CY	457	170.00	77,690.00	\$ 300	\$ 137,100.0	\$ 395	\$ 180,515.0
49	Filter Material B	CY	305	140.00	42,700.00	\$ 300	\$ 91,500.0	\$ 405	\$ 123,525.0
50	1/4-Ton Concreted Rock Riprap	CY	679		207,095.00	\$ 400	\$ 271,600.0	\$ 375	\$ 254,625.0
51	8-Ft. Floodwall	LF	200		150,000.00	\$ 1,700.0	\$ 340,000.0	\$ 1,545.0	\$ 309,000.0
52	10-Ft. Floodwall	LF	92		110,400.00	\$ 1,850.0	\$ 170,200.0	\$ 1,585.0	\$ 145,820.0
53	12-Ft. Floodwall	LF	552		717,600.00	\$ 2,000.0	\$ 1,104,000.0	\$ 1,835.0	\$ 1,012,920.0
54	16'-6" Floodwall	LF	22		37,400.00	\$ 4,000.0	\$ 88,000.0	\$ 3,225.0	\$ 70,950.0
55	El Rio Drain RC Headwall [F]	LS	1	10,000.00	10,000.00	\$ 50,000.0	\$ 50,000.0	\$ 52,250.0	\$ 52,250.0
56	El Rio Drain RC Trapezoidal Channel [F]	LS	1	44,775.00	44,775.00	\$ 75,000.0	\$ 75,000.0	\$ 58,600.0	\$ 58,600.0
57	El Rio Drain RC Box	LF	28	•	147,000.00	\$ 1,250.0	\$ 35,000.0	\$ 2,845.0	\$ 79,660.0
58	RC Outlet Structure B	LS	1	15,400.00	15,400.00	\$ 25,000.0	\$ 25,000.0	\$ 29,450.0	\$ 29,450.0
59	24-Inch RC Pipe	LF	35	•	8,750.00	\$ 500	\$ 17,500.0	\$ 925	\$ 32,375.0
60	16-Inch Recycled Water Line	LF	45		11,700.00	\$ 200	\$ 9,000.0	\$ 1,840.0	\$ 82,800.0
61	Blow-Off Assembly [F]	EA	1	6,000.00	6,000.00	\$ 15,000.0	\$ 15,000.0	\$ 16,000.0	\$ 16,000.0
62	Topsoil Removal and Stockpile [F]	LS	1	21,000.00	21,000.00	\$ 35,000.0	\$ 35,000.0	\$ 137,350.0	\$ 137,350.0
63	20-Ft. Concrete Driveway Approach	EA	1	5,250.00	5,250.00	\$ 20,000.0	\$ 20,000.0	\$ 5,900.0	\$ 5,900.0
64	Concrete Access Road	SY	49		8,575.00	\$ 270	\$ 13,230.0	\$ 390	\$ 19,110.0
65	Concrete Sidewalk/Walk Path	SY	1056		162,624.00	\$ 300	\$ 316,800.0	\$ 340	\$ 359,040.0
66	Concrete Median Curb	LF	590		18,880.00	\$ 100	\$ 59,000.0	\$ 48	\$ 28,320.0
67	Stamped Concrete	SY	520		135,200.00	\$ 300	\$ 156,000.0	\$ 225	\$ 117,000.0
68	Concrete Curb and Gutter	LF	184		10,120.00	\$ 200	\$ 36,800.0	\$ 62	\$ 11,408.0
69	AC Pavement	SY	1301	185.00	240,685.00	\$ 80	\$ 104,080.0	\$ 111	\$ 144,411.0
70	AC Pavement Overlay	SY	1080		124,200.00	\$ 70	\$ 75,600.0	\$ 36	\$ 38,880.0
71	Removable Steel Bollard	EA	2		2,200.00	\$ 3,500.0	\$ 7,000.0	\$ 3,325.0	\$ 6,650.0
72	5-Ft. High Chain Link Fence	LF	100	•	9,000.00	\$ 250	\$ 25,000.0	\$ 223	\$ 22,300.0
73	Thermoplastic Traffic Striping and Pavement Marki		1	15,750.00	15,750.00	\$ 10,000.0	\$ 10,000.0	\$ 3,500.0	\$ 3,500.0
74	Temporary Chain Link Fence	LF	60	•	1,080.00	\$ 100	\$ 6,000.0	\$ 50	\$ 3,000.0
75	Catch Basin Face Plate Assembly	EA	1	1,800.00	1,800.00	\$ 5,000.0	\$ 5,000.0	\$ 6,830.0	\$ 6,830.0
76	Landscape and Irrigation System	LS	1	80,000.00	80,000.00	\$ 175,000.0	\$ 5,000.0 \$ 175,000.0	\$ 233,800.0	\$ 233,800.0
70 77	Temporary Chain Link Gate	EA	1	2,000.00	2,000.00	\$ 175,000.0	\$ 173,000.0	\$ 1,250.0	\$ 233,800.0 \$ 1,250.0
78	Railroad Coordination	LS	1	46,200.00	46,200.00	\$ 50,000.0	\$ 50,000.0	\$ 135,000.0	\$ 135,000.0
78 79	18-Inch RCP Pipe	LF	51					\$ 133,000.0	\$ 42,840.0
79 80	Grating Catch Basin – Double Grate	EA	ات 1	15,750.00	4,335.00	\$ 500 \$ 10,000,0	\$ 25,500.0 \$ 10,000.0	\$ 37,500.0	· ·
81	Pipe to Pipe Junction Structure [F]		1 1	2,750.00	15,750.00	\$ 10,000.0 \$ 5,000.0	\$ 10,000.0 \$ 5,000.0		\$ 37,500.0 \$ 12,150.0
82		EΑ		•	2,750.00	\$ 5,000.0 \$ 5,000.0	\$ 5,000.0 \$ 10,000.0	\$ 12,150.0 \$ 3,450.0	\$ 12,150.0
	Concrete Flared End Section [F]	EA	2 650		2,600.00	\$ 5,000.0	\$ 10,000.0 \$ 58 500.0	\$ 3,450.0 \$ 61	\$ 6,900.0 \$ 30,650.0
83	Class 2 Aggregate Base	SY	650	35.00	22,750.00	\$ 90	\$ 58,500.0	\$ 61	\$ 39,650.0

Bids opened on: October 3, 2024		ENGINEER'S ESTIMATE		LOW BIDDER		2nd Bidder			
Project Name: Santa Clara River Levee Downstream of U						GMZ Engineering, nc.		Granite Construction Company	
						5655 Lindero Can	yon Road, Suite #430	4820 McGrath Stree	t, Suite 101
						Westlake Village,	CA 91362	Ventura, CA 90638	
	Spec. No. WP25-05								
ITEM									
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
84	Air Release and Combination Air Valves [F]	EA	1	1,100.00	1,100.00	\$ 15,000.0	\$ 15,000.0	\$ 14,005.0	\$ 14,005.0
85	18'W X 5'H Double Leaf Chain Link Gate	EA	1	4,200.00	4,200.00	\$ 10,000.0	\$ 10,000.0	\$ 7,890.0	\$ 7,890.0
86	Control Room Electrical Works	LS	1	105,000.00	105,000.00	\$ 150,000.0	\$ 150,000.0	\$ 67,925.0	\$ 67,925.0
87	Temporary Construction Sound Barrier	LF	900	14.00	12,600.00	\$ 290	\$ 261,000.0	\$ 265	\$ 238,500.0
88	Hydroseeding	LS	1	1,600.00	1,600.00	\$ 20,000.0	\$ 20,000.0	\$ 19,350.0	\$ 19,350.0
	TOTAL				4,079,145.00	-	6,869,860.00		7,254,966.00
	BID SCHEDULE III				-		-		-
89	Maintenance and Landscape Establishment	LS	1	62,000.00	62,000.00	10,000.00	10,000.00	6,500.00	6,500.00
	TOTAL				62,000.00	=	10,000.00		6,500.00
	Total Amount Bid Schedule I, II, & III				23,499,584.00		22,728,200.00		29,381,723.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified by bidder Copies: Director PWA, PM: M. Jillani; A. Duval; Payfile

Spec. No. WP25-05

### **LIST OF SUBCONTRACTORS**

CONTRACTOR NAME: <u>GMZ Engineering, Inc.</u>	CONTRACTOR NAME:_	GMZ E	ngineering	. Inc.
---	-------------------	-------	------------	--------

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Hardy & Harper, Inc.	#215952	1000000076	32 Rancho Circle Lake Forest, CA 92630	A/C Paving
Alcorn Fence Company	#122954	1000001986	1088 Hamilton Rd Duarte, CA 91010	Chain Link Fence, Handrailing
Greencoast Landscapes, Inc.	#1009658	1000062784	Po Box 430 Camarillo, CA 93011	Landscape, Irrigation, Hydroseeding
Amber Steel	#268566	1000000630	312 S. Willow Ave Rialto, CA 92376	Reinforcing Rebar
L. Johnson Construction Inc.	#466670	100010110	1566 W 132nd St, Gardena, CA 90249	Masonry

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Spec. No. WP25-05

#### **LIST OF SUBCONTRACTORS**

## **CONTRACTOR NAME:** Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Greencoast Landscapes, Inc.	1009658	1000062784	P.O. Box 430, Camarillo, CA 93011	5(P), 6, 41(P), 42, 76(P), 88, 89 - F&I Landscape, Tree Removal, Veg Removal
C M C Rebar	778010	1000000298	5425 Industrial Pkwy, San Bernardino, CA 92407	17(P), 20(P), 51-57(P) - Furnish & Install Rebar
Pacific Sound Control	647465	1000007590	2677 N. Main St, #230, Santa Ana, CA 92705	87(P) - Furnish & Install Sound Blanket
R-Help Construction Co.	673147	1000007050	3255 Grande Vista, Newbury Park, CA 91320	37(P), 44(P), 60, 61, 84 - Furnish & Install Water Line
L. Johnson Construction, Inc.	466670	1000010110	1566 West 132nd St, Gardena, CA 90249	17(P), 51-54(P) - Furnish & Install Masonry
Alcorn Fence Company	122954	1000001986	1088 Hamilton Rd, Duarte, CA 91010	32 - 35, 71, 72, 85 - Furnish & Install Fencing
Taft Electric Company	772245	1000000149	1694 Eastman Ave, Ventura, CA 93003	86 - Furnish & Install Electrical

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Spec. No. WP25-05

#### **LIST OF SUBCONTRACTORS**

## **CONTRACTOR NAME:** Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Foundation Pile, Inc.	360640	1000007197	81 Big Break Road, Oakley, CA 94561	1(P), 8(P), 18, 19 - Furnish & Install Sheetpiles, Ground Anchors, & Temp Shoring

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.